! AR e T He.

Ans

X 1. grT T ST aEaE .
2 AGHHY FIT AFAGT B
X3 TEeEd BT TgdeRe JET
X 4 FIT TSR BT ATAE.

Question Type :
Question ID :

Option 1D

Option 21D :

Option 3 ID

Option 41D :

Status

Chosen Option :
Marks :

McQ
630680296089

: 6306801152025
6306801152026
: 6306801152027
6306801152024
. Answered

2

2

Q.2 S A e e forf aEfie @l - a1 e AR i F

Ans

X1 Y g

X 2. gfror E’TUT

X 3. grarsfe gror

W4 FTeTIEiea g

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296103
6306801152082
6306801152083
6306801152081
6306801152080
Answered

4

2

3 gl wrATRE e T Feer WY, S g ST M,

Ans

X1 ST - e B

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

McQ
630680296102
6306801152076
6306801152079
6306801152077
6306801152078
Answered

Chosen Option: 4

Marks :

2




¥ Prwardf ereer=ar Tvw SEr e

3 T T T
a. adol i. AgTerefer
b. T | ii. T
c. OH n.aAF
d. ¥R iv.fawe
v. J8HA

Ans 1 a-ii, bHiii, c-iv, d-i

X2 a-v, b-iv, c-i, d-iii

X 3. a-ii, b-iii, c-v, d-i

X 4 a-ii, b-ii, c-iv, d-v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296099
6306801152064
6306801152067
6306801152065
6306801152066
Answered

1

2

Q5 g g IH AR - FRTRT e TEETS FEeeT T e,

Ans X 1. gTT
X 2. FTHh
X3 e
o4 HdaT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296096
6306801152055
6306801152053
6306801152054
6306801152052
Answered

4

2




Q.6

‘GTadel OT ST=T He 31T,

Ans w1 e
X2 @HS
X3 oA
X 4 mﬁn
Question Type : MCQ
Question ID : 630680296110
Option 11D : 6306801152108
Option 21D : 6306801152109
Option 31D : 6306801152110
Option 41D : 6306801152111
Status : Answered
Chosen Option : 4
Marks : 0
Q.7
TTeiTel IFTIRTET AT 3L ofe,
‘FIEEET 7 7 gor
Ans
<1 9 J9H & U
X 2 FEAEF For
X3 ggg I17 o
W4 HiSETT W A gior
Question Type : MCQ
Question ID : 630680296104
Option 11D : 6306801152084
Option 21D : 6306801152087
Option 3D : 6306801152086
Option 4 ID : 6306801152085
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 . .
QAT HIUT JFdeh J.F.891S A= A2
A X1 gerearE @e
2. OTferTe
X3 g #Hr gomT
X4 AT A FTHAT
Question Type : MCQ
Question ID : 630680296111
Option 11D : 6306801152112
Option 21D : 6306801152115
Option 31D : 6306801152114
Option 41D : 6306801152113
Status : Answered
Chosen Option : 2
Marks : 2




0 oAt eregr=aT DT SEAT W@

‘3 T T T
a. OIq i, cgred
b. TGl | ii. A&
c. AER i, WA
d e |iv. [Afes
v. odl

Ans

X 1. a-v, b-iv, c-iii, d-ii

X 2. a-ii, b-iv, c-v, d-iii

W3 a-v, b-iv, c-i, d-ii

X4 a-i, b-iv, c-v, d-ii

Question Type :
: 630680296097
Option 11D :

Question ID

Option 2 ID

McQ

6306801152057

1 6306801152059
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

6306801152058
6306801152056
Answered

3

2

Q10 grefy iz gy S, - A7 AR ST & e

XK e
X 2. garar

X 3. JAT
o 4 gEET

ICE CIGEENIES

Question Type:
Question ID :

Option 1 ID

Option 3 ID

McQ
630680296094

1 6306801152044
Option 21D :

6306801152046

: 6306801152047
Option 41D :
Status :

Chosen Option :
Marks :

6306801152045
Answered

1

0




1! 30y FHeT 9O g - A7 FEUNETS WaTETS T efter.

Ans
. IS 5T FIgHT FISOT
X 2 =graeT faee A
X 3. THERN FiEST, TUIET HITAT
K4 et FHIOM Feir eqohr
Question Type : MCQ
Question ID : 630680296106
Option 11D : 6306801152092
Option 21D : 6306801152093
Option 31D : 6306801152094
Option 4 ID : 6306801152095
Status : Answered
Chosen Option : 1
Marks : 2
G2 yfuREa FEUS g
Ans
- HiFT @ER I
K 2. 3941
X 3. g
X4 Higew 99 F9
Question Type : MCQ
Question ID : 630680296093
Option 1ID : 6306801152041
Option 21D : 6306801152042
Option 3ID : 6306801152043
Option 4 ID : 6306801152040
Status : Answered
Chosen Option: 3
Marks : 0




Q.13 3eAuT 9w AAEA o A, R (Fegae) T (Rreerwn) T SEmEedt e geaa=ar (@)

Ans

SR - AT AT W T AR HAOT T FAA
x 1

oA $IG A [AT AE, T Feaeierr T Rresvons S0t FEEen s geaTa=ar S

HE.
<2

AT FAG AN [T AR, A FeIUARS T eI Hul FEEe w0 raesrear HHgeHr

T,
o 3.

FeaIT $IG A AT AE, T Feauierardr 7 Rredvons Syot FEEant w2 geaTa=ar S

TS
X 4

oA G AT [ AL, G Feavieael T ReeuiT ST SEEe w2 qraasrar Heh

A

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680296090
6306801152028
6306801152030
6306801152031
6306801152029
Answered

3

2

Q.14

Ans

WQWWWWW.

. Ao AT
TSI FIOT
g AT

S ARST TP

X< 1.

ST HTEST FATer S $TRAT FEhald Te2ied FHI00

x 2.

ye2ie FUT HE A AT ST TEpAd SEeATe.

X~ 3.

HEY AT AT ARAT FEpAT TE2Ie FI0T ST,

o 4.

AT TR AT Jeold 0T 37eeT Alder 7.

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296091
6306801152035
6306801152033
6306801152034
6306801152032
Answered

4

2




15 fEEaUTT FROT - T TFTIRIETST AT ST o
Ans K1ﬁﬁm

X 2. UMM 30T
¥ 3 HIATHT FIOT
X 4 3gI-3&T FIOT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296105
6306801152091
6306801152090
6306801152089
6306801152088
Answered

3

2

Q.16 ‘SUCUTET AU FEee FEAT T T har SEar SE e - a7 s wEer A,

AN X SO I S & FRuTar A Y
V2 FOTET @IET qiT, <hTET ST=iarar areer
X 3. ST ME=AT ST, AT AEG=AT ST
K4 grEr ST Tawe

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680296107
6306801152097
6306801152098
6306801152099
6306801152096
Answered

3

0

Q17 s 7 eregr oTg Y HTOET AT ATEA SO HH AFT HU HE?

Ans

X 1. HelrE HRA T F9Tar Feil 3TE.
X 2 QT SEHAT FEIA Sre.

X 3. TETOTERI=AT Hicia YT ST,

o 4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296100
6306801152068
6306801152070
6306801152069
6306801152071
Answered

4

2




U e FUTHIIE FIUTET 3ME?

Ans

. MTETH A
X 2. 379 &Y
xs.aﬂﬂmqﬁ?»r

X4 FIg @O

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680296113
6306801152122
6306801152123
6306801152121
6306801152120
Answered

3

0

Q1 Fedr gEr e . - T e favard o HoEr IR?

Ans

X . gERd
K2 el
ERIEC I
X4 =T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680296098
6306801152062
6306801152060
6306801152061
6306801152063
Answered

3

2

Q.20 s e Gerh SR R T Y9 e o8 AEE g9 Wed 3O, FEUEe A
: WY FEUTET SO .

Ans

1. A AT, FA Frar
X 2. it I, T WAE®
X 5. STET I, THT =T

K4 @ ST, WY =

Question Type :

Question ID :
1 6306801152101
Option 21D :

Option 1 ID

Option 3 ID

Status

Mca
630680296108

6306801152100

1 6306801152102
Option 41D :

6306801152103

. Answered
Chosen Option :
Marks :

1
2




Q21 dorz gefidrer FoTeTT GrETeT ISR TEd ARY. - ;M AT TR AT RUET IE?

Ans X
1. STEr
K2
v INEe
X4 T
Question Type : MCQ
Question ID : 630680296101
Option 11D : 6306801152075
Option 21D : 6306801152072
Option 31D : 6306801152073
Option 41D : 6306801152074
Status : Answered
Chosen Option: 3
Marks : 2
.22
02 gy - eregET Y FIUTET A7
Are K1 g awor
X 2. JSETHE TAUH
V3 agATATe YTATTOTERTOT
K 4 e T
Question Type : MCQ
Question ID : 630680296109
Option 11D : 6306801152104
Option 21D : 6306801152107
Option 3D : 6306801152106
Option 41D : 6306801152105
Status : Answered
Chosen Option: 3
Marks : 2
% gur searar 39T WEEYEr HIUET ATE?
Ans < 1. TS
2 HITAT
Xs A
X 4. JERTIT
Question Type : MCQ
Question ID : 630680296092
Option 11D : 6306801152036
Option 21D : 6306801152038
Option 3D : 6306801152037
Option 41D : 6306801152039
Status : Answered
Chosen Option: 1
Marks : 0




O e S aean

Ans

V1 TS Tad TS, - FHAON TR

X2 HE HAH TASAES. - Wehash A

X 5. T U1 S, - e H1 TAET

X 4 T Feaad AT FTeL - HAYA FHOT gaTeT.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Marked For Review

Chosen Option :

Marks :

Status

McQ
630680296095
6306801152051
6306801152049
6306801152048
6306801152050

1
2

Q25 el FE THE FUBR T A HAFTE ol g, A T A HeaT.

Ans

x 1. fagamer g3foe - Aol wiee

X2 zarfauaer - el
X 3 3RTE T - Fe!

o 4 g.ﬁ.&arqi% - FFEF

Question Type

Status

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680296112

6306801152119
6306801152118
6306801152116
6306801152117

: Marked For Review
Chosen Option :
Marks :

3
0

Section : English Language

Q.1

Ans

Select the most appropriate meaning of the given proverb.
A sleeping fox catches no poultry.

45 1. All foolish persons talk as if they were very wise.
& 2. A man who is careless and unvigilant gains nothing.
/5 3. A simple and innocent man is easily deceived.

25 4. People who are newly appointed perform well, but soon they become negligent.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280654
6306801090854
6306801090852
6306801090853
6306801090851
Answered

2

2




Q.2 Select the most appropriate option to fill in the blank.

Thetrain__________ at8 o’ clock in the evening.
Ans X 1. will have been arrived

X 2. ought to have arrive

/< 3. arriving
o 4. arrives
Question Type : MCQ
Question ID : 630680274435
Option 11D : 6306801066254
Option 21D : 6306801066253
Option 31D : 6306801066251
Option 41D : 6306801066252
Status : Answered
Chosen Option : 4
Marks : 2
Q.3 Select the most appropriate ANTONYM of the given word.
Precise
Ans & 1. Inexact
/< 2. Limited
X 3. Uncommon
/< 4. Narrow
Question Type : MCQ
Question ID : 630680252539
Option 11D : 630680980135
Option 21D : 630680980138
Option 31D : 630680980137
Option 41D : 630680980136
Status : Answered
Chosen Option: 1
Marks : 2
Q.4 The given sentence contains an error. Select the option that correctly rectifies the error.
We must be visiting the new Parliament House tomorrow, with prior permission of the
authority.
Ans X 1. will have been visiting the new Parliament House
o 2. shall be visiting the new Parliament House
/5 3. can be visiting the new Parliament House
/< 4. should be visiting the new Parliament House
Question Type : MCQ
Question ID : 630680274394
Option 11D : 6306801066090
Option 21D : 6306801066088
Option 31D : 6306801066087
Option 41D : 6306801066089
Status : Answered
Chosen Option : 2
Marks : 2




Q.5 Select the most appropriate article to fill in the blank.

I have ____ large collection of poetry books.
Ans ¥ 1.a
X 2.an
X 3.the
X 4. No article required
Question Type : MCQ
Question ID : 630680274487
Option 11D : 6306801066459
Option 21D : 6306801066460
Option 3 1D : 6306801066461
Option 41D : 6306801066462
Status : Answered
Chosen Option : 4
Marks : 0
Q.6 Select the most appropriate preposition to fill in the blank.
In spite of being warned, Tamara insisted meeting the conman.
Ans X 1. left
X 2. was left
& 3. had left
& 4. leaves
Question Type : MCQ
Question ID : 630680278256
Option 11D : 6306801081381
Option 2 ID : 6306801081382
Option 31D : 6306801081384
Option 4 1D : 6306801081383
Status : Answered
Chosen Option : 4
Marks : 0
Q.7 Select the most appropriate option to fill in the blank.
You have done a great job in your exam. Keep hard.
Ans X 1.worked
5 2. work
& 3. working
X 4. works
Question Type : MCQ
Question ID : 630680274479
Option 11D : 6306801066429
Option 21D : 6306801066427
Option 3D : 6306801066428
Option 41D : 6306801066430
Status : Answered
Chosen Option: 3
Marks : 2




Q.8 Select the most appropriate question tag to fill in the blank.

| am supposed to complete my assignment tonight, _____?
Ans X 1.dontl

X 2. can'tl?
o 3. aren't 1?
X 4. shouldn't 1?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274391
6306801066075
6306801066078
6306801066076
6306801066077
Answered

4

0

Q.9 Select the INCORRECTLY spelt word.
Ans X 1.Optimum

X 2. Foreign
75 3. Necessary

o 4. Feiry

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252916
630680981646
630680981644
630680981645
630680981643
Answered

4

2

Q.10 Select the appropriate meaning of the given word.
Impede

Ans X 1.Aid
" 2. Hinder
X 3. Liberate
/5 4. Advance

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280669
6306801090913
6306801090911
6306801090914
6306801090912
Answered

2

2




Q.11 Select the most appropriate preposition to fill in the blank.

The panel consists five members.

Ans X 1.for
X 2. with
¥ 3. of
X 4. about
Question Type : MCQ
Question ID : 630680274445
Option 11D : 6306801066294
Option 21D : 6306801066293
Option 31D : 6306801066292
Option 41D : 6306801066291
Status : Answered
Chosen Option: 3
Marks : 2
Q.12 Select the correctly punctuated sentence from the options given below.
Ans 4 1. What a hideous new dress!
X 2. What a hideous, new dress.
/5 3. what, a hideous new dress.
/X 4. What a hideous new dress?
Question Type : MCQ
Question ID : 630680274356
Option 11D : 6306801065936
Option 21D : 6306801065938
Option 31D : 6306801065937
Option 41D : 6306801065935
Status : Answered
Chosen Option : 1
Marks : 2
Q.13 Select the most appropriate option to fill in the blank.
Beware of plants that often attract specific insects to devour them.
Ans X 1.dirty
X 2. filthy
X 3. stinky
& 4. rotten
Question Type : MCQ
Question ID : 630680280679
Option 11D : 6306801090954
Option 21D : 6306801090953
Option 31D : 6306801090951
Option 41D : 6306801090952
Status : Marked For Review
Chosen Option : 4
Marks : 2




Q.14 Select the most appropriate punctuation marks to fill in the blanks.

She ordered fish finger (i)
Ans X 1. (i) En dash; (i) period

rice and coke for dinner (i)

o 2. () Comma; ii) period
45 3. (i) Semicolon; (ii) period
X 4. (i) Hyphen; (ii) ellipsis

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274385
6306801066054
6306801066051
6306801066052
6306801066053
Answered

2

2

Q.15 Select the most appropriate option to fill in the blank.

Sheis___________tired to go for trekking.
Ans X 1.infact

/5 2. otherwise
X 3. often

o 4. 100

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ

630680252328
630680979293
630680979294
630680979291
630680979292

: Answered
Chosen Option :
Marks :

1
0

Q.16 Select the INCORRECTLY spelt word in the given sentence.

My cousin Devika prepares salads that are healthy and delisious.
Ans X 1.Prepares

X 2. Salads
o 3. Delisious
X 4. Healthy

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274700
6306801067311
6306801067312
6306801067314
6306801067313
Answered

3

2




Q.17 Select the most appropriate option to fill in the blank.

Just as | am getting late to office, thecar _________ start.

Ans X 1.cant
X 2. don't
< 3. weren't
" 4. won't

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274432
6306801066242
6306801066241
6306801066239
6306801066240
Answered

3

0

Q.18 Parts of the following sentence have been given as options. One of them may contain an
error. Select the part that contains the error from the given options. If you don't find any

error, mark ‘No error’ as your answer.

| saw a puppy among the two trees. It was confused and appeared to be longing for its

owners to rescue it.
Ans X 1.torescueit.

/X 2. appeared to be longing
& 3. among the two trees

5 4. No error

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252913
630680981633
630680981632
630680981631
630680981634
Answered

3

2

Q.19 Select the most appropriate option to fill in the blank.
boy in the pink shirt is my cousin.

Ans X 1.An

X 2.A
¥ 3. The

X 4. No article required

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280763
6306801091288
6306801091287
6306801091289
6306801091290
Answered

3

2




Q.20 Parts of the following sentence have been given as options. Select the option that contains

an error.

These nomads live where they could find food to support their families.

Ans 4 1. could find food
X 2. where they
/< 3. These nomads live

X 4. to support their families.

Question Type : MCQ
Question ID : 630680252914
Option 11D : 630680981637
Option 21D : 630680981636
Option 3 1D : 630680981635
Option 41D : 630680981638
Status : Answered
Chosen Option: 3
Marks : 0
Q.21 Select the most appropriate meaning of the given idiom.
A leopard doesn’t change its spots.
Ans X 1. People can't change the people around them.
/X 2. People can't change their fate and destiny.
X 3. People can't change their circumstances.
& 4. People can't change their innate character.
Question Type : MCQ
Question ID : 630680274496
Option 11D : 6306801066495
Option 2 1D : 6306801066498
Option 31D : 6306801066496
Option 4 1D : 6306801066497
Status : Answered
Chosen Option : 4
Marks : 2
Q.22 Select the most appropriate synonym of the given word.
Enchanted
Ans X 1.Interrupted
/5 2. Appreciated
& 3. Fascinated
X 4. Influenced
Question Type : MCQ
Question ID : 630680252324
Option 11D : 630680979276
Option 21D : 630680979275
Option 3 1D : 630680979277
Option 41D : 630680979278
Status : Answered

Chosen Option :
Marks :

1
0




Q.23 Select the most appropriate meaning of the given idiom.

Under the weather
Ans o 1. Feeling ill

X 2. Giving money
/X 3. Getting tired
X 4. Talking more

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274705
6306801067333
6306801067334
6306801067332
6306801067331
Answered

3

0

Q.24 Select the option that expresses the given sentence in passive voice.

The acclaimed filmmaker produced the film.
Ans X 1.The film was produced by the filmmaker.

& 2. The film was produced by the acclaimed filmmaker.
X 3. The acclaimed filmmaker was producing the film.

/5 4. The film has been produced by the acclaimed filmmaker.

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274534
6306801066648
6306801066647
6306801066650
6306801066649
Answered

2

2

Q.25 Select the most appropriate question tag to fill in the blank.

He doesn't speak Dutch,
Ans X 1.he does?

& 2. hedid?
/& 3.did he?
o 4. does he?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274465
6306801066371
6306801066374
6306801066373
6306801066372
Answered

3

0

Section : General Knowledge




Q.1 WrefieTichl FIUT I TAREHR AT shisT ¢RoT 2023 TAR, I hisT TfAHT RIS Hier?

Ans X 1.gRamon
o 2. TR
/X 3. emEmH
& 4. ERIE
Question Type : MCQ
Question ID : 630680270051
Option 11D : 6306801049458
Option 21D : 6306801049456
Option 31D : 6306801049455
Option 41D : 6306801049457
Status : Answered
Chosen Option : 4
Marks : 0
Q.2 w@refierdh wivft ‘wERIE siusigr PRefem gt ot wmoam et smg?
Ans X 1. 3[UUT gSIR
s 2. Tz Iregd aefeeR
X 3. MuTe g S
X 4. QB hIhIgHT
Question Type : MCQ
Question ID : 630680275220
Option 11D : 6306801069393
Option 21D : 6306801069394
Option 31D : 6306801069392
Option 41D : 6306801069391
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 Who is commonly referred to as the father of plant anatomy?
Ans X 1. Francis Crick
/X 2. Richard Dawkins
/X 3. Carolus Linnaeus
«# 4. Nehemiah Grew
Question Type : MCQ
Question ID : 630680270165
Option 11D : 6306801049913
Option 21D : 6306801049912
Option 31D : 6306801049914
Option 41D : 6306801049911
Status : Answered
Chosen Option : 3
Marks : 0




Q.4 The 86th Constitutional Amendment Act, 2002 puts the duty on a parent or guardian to
provide opportunities for education to his child or ward from the age of:

Ans X 1.6t0 15years
5 2.10to 18 years
/X 3.71t0 14 years

¥ 4. 610 14 years

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270096
6306801049638
6306801049637
6306801049635
6306801049636
Answered

3

0

Q.5 The Naujawan Bharat Sabha was active in which of the following present day states of
India?

¥ 1. Haryana
X 2. West Bengal

Ans

/5 3. Uttar Pradesh
/< 4. Bihar

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270077
6306801049560
6306801049562
6306801049561
6306801049559
Answered

4

0

Q.6 A@aR 2022 HeA, FE UETS HIBAAT @Wielerteh! hIvaT St feelr?
W 1.ST
< 2.0BC

X 3.sC
< 4. EWS

Ans

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275645
6306801071093
6306801071092
6306801071091
6306801071094
Answered

1

2




Q.7 G@reiierddh Siure wRend Swikfedia geela a= snewdara?
Ans X 1. I<R-UfR sref-grean &3

X 2. Guchedia gaR Snfty e e

o 3. UTH ETCTAIe JHSYUR UTedr &

& 4. fRaTerare urgeanef

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270540
6306801051348
6306801051347
6306801051346
6306801051349
Answered

2

0

Q.8 Among the given options, which bird is known for being the tallest?
Ans X 1.Goldcrest

5 2. Bee hummingbird
/X 3. Peacock
s 4. Ostrich

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270130
6306801049771
6306801049772
6306801049773
6306801049774
Answered

4

2

Q.9 2011 =0T STHVFIHR, HRAT I hIvTedT ISATd AIERAT &R Haffde smg?
Ans o 1. G

K 2. smam

& 3. ATy
X 4. et

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270563
6306801051440
6306801051441
6306801051438
6306801051439
Answered

1

2




Q.10 Higer 2022 #ed, gRamom+ ‘R gRaron disrn & &hefl. ar atsHiata @refiadd Storer
g gRie srara?
Ans X 1. Athd Aadar

o 2. GAGHTAIE AT STRI quTeoft

& 3. faemge g ufvemor
X 4. U T T ARITHRITGST a0t

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275638
6306801071063
6306801071065
6306801071064
6306801071066
Answered

2

2

Q.11 AR TURIMa g URAR UfRA 7 T91at 3@
Ans X 1. HERIH

< 2.100% wfger @er

o 3.5

X 4.9R

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275604
6306801070928
6306801070930
6306801070929
6306801070927
Answered

3

2

Q.12 Erefierd<hl shivrdt faaTerardie wza udazi ag?
Ans o 1. [ gdeRiT

< 2. UR USTe uda=iT

X 3. diereR gdariT

X 4. SR TR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680268944
6306801045086
6306801045083
6306801045085
6306801045084
Answered

1

2




Q.13 Erefierdehl hioft YR Foeh TATSI TATIAT heft 0T ‘ATEiard} o1z’ Arard! #ighH & Hefl?

Ans

1. ARTE SarE
ag 2. USTIaRIG 3@
< 3. e dargE
X 4. STIRIATSRIG 3R

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275243
6306801069483
6306801069484
6306801069485
6306801069486
Answered

2

2

Q.14 = 2023 Fe&, AT ATaaT =T qreaffier o yeeier femafard) va wearresr gt

T hefl. g Ao @refierd<hr sransft defda omd?

Ans X 1. e RO
o 2. 5T WS 0T
X 3. chieT TrfecT @Y
& 4. gare @4t ufagt
Question Type : MCQ
Question ID : 630680275641
Option 11D : 6306801071076
Option 21D : 6306801071078
Option 31D : 6306801071075
Option 41D : 6306801071077
Status : Answered
Chosen Option : 2
Marks : 2
Q.15 Which State Disaster Management Authority was chosen for Subhash Chandra Bose Aapda
Prabandhan Puraskar for 2023?
Ans X 1.Maharashtra
/5 2. Punjab
o 3. Odisha
5 4. West Bengal
Question Type : MCQ
Question ID : 630680278285
Option 11D : 6306801081499
Option 2 ID : 6306801081497
Option 3D : 6306801081498
Option 4 1D : 6306801081500
Status : Answered
Chosen Option: 3
Marks : 2




Q.16 SR AMfedt sgehi< e Arfadt sy U fAg=ht dhefll Aeht ordl, av =i mifgedt smges snfor
A Arfadt SITgeh U QT Srdehis gquften SIRd s 9T
Ans X 1.8
2.5
/X 3.10
X 4.6
Question Type : MCQ
Question ID : 630680275250
Option 11D : 6306801069512
Option 21D : 6306801069513
Option 31D : 6306801069511
Option 41D : 6306801069514
Status : Marked For Review
Chosen Option: 1
Marks : 0
Q.17 wETa=agd YRAT fAeTorass oy AreTs Upewras ¥ A+t vt fawar=n &era avre f&a?
Ans X 1.sfaem
X 2. wfoa
X 3. offeeme
o 4. T
Question Type : MCQ
Question ID : 630680270084
Option 11D : 6306801049589
Option 21D : 6306801049588
Option 3 1D : 6306801049587
Option 41D : 6306801049590
Status : Answered
Chosen Option: 3
Marks : 0
Q.18 The Central Chief Information Commissioner, before entering upon his/her office, shall
make and subscribe an oath or affirmation before the
Ans & 1. President of India
/5 2. Prime Minister of India
/5 3. Vice-President of India
/X 4. Chief Justice of India
Question Type : MCQ
Question ID : 630680275365
Option 11D : 6306801069971
Option 2 1D : 6306801069972
Option 3 ID : 6306801069974
Option 4 1D : 6306801069973
Status : Marked For Review

Chosen Option :
Marks :

4
0




Q.19 HIUTHIGH §EaudTd AT ThiEed AU geacdl Ssudd @ Aed Saea1 STard.
Ans X 1.919 &g (My Computer)

o 2. arIehet fa (Recycle Bin)

X 3. A gtagded (My Documents)

X 4. 39 wided (Temporary files)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275725
6306801071411
6306801071414
6306801071412
6306801071413
Answered

2

2

Q.20 According to Union Government estimates, by 2025, entire India will be covered by Doppler
Radar Network. This network is used for predicting which of the following?

Ans X 1. Volcanic eruptions
X 2. Forest Fires
o 3. Weather Events
/X 4. Earthquakes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275591
6306801070878
6306801070875
6306801070876
6306801070877
Answered

4

0

Q.21 YR IsATEAT W IV - A Famaft eifda ema?
Ans X 1. 3efAr

K 2. oA B9

X 3. TR

' 4. T Rl

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270099
6306801049649
6306801049650
6306801049648
6306801049647
Answered

4

2




Q.22 Erefterdehl hivT Wid=agd HRATT R Wifdsmms ga?

Ans o 1. SIS S
< 2. Sifarg TS
< 3.7 werfE g
&K 4.7 3R, 318

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270083
6306801049584
6306801049586
6306801049583
6306801049585
Answered

3

0

Q.23 Aars=ar A Aqed RO @iefierdh FivreT s Seagyz fasifaar awaddief dey
gar?

Ans g 1. AT dSTrad
& 2. R gar
X 3. fkka Rig
X 4. e TS

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680278317
6306801081626
6306801081625
6306801081628
6306801081627
Marked For Review
3

0

Q.24 Identify the components of food that are commonly referred to as body builder.

Ans X 1.Sodium
/X 2.Sugars
X 3. Fibre

o 4. Proteins

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270151
6306801049857
6306801049856
6306801049855
6306801049858
Answered

4

2




Q.25 Wil HIUI FhD Jsaaet 3a?

Ans X 1. 315 6 : UIhEITHIGH THIdR heeed WRATd SHTeted faaférd saxhie AR gaeh
X 2. 37E3% 9 - IR AT ARG W= YUTEUIT=AT Shl ARTRE 0t
X 3. 3R 7 WRAT ITEeT : AR e UTehedTHTd Hoted faaferd sachie AT gaeh
W 4. ST 11 : TaTed ATaTera™ AReETeT gaRhTe FHraengR e ot

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270124
6306801049747
6306801049750
6306801049749
6306801049748
Marked For Review
1

0

Section : General Intelligence

Q.1 S Brdie fhadiar 25% Jaeid T «Uely WREL Shell. SR F Sueiaars! 328,473 R,
R T st faa feedt gidt?

Ans X 1.337,946

X 2.337,694
X 3.%37,49
¥ 4.337,964
Question Type : MCQ
Question ID : 630680287172
Option 11D : 6306801116598
Option 21D : 6306801116595
Option 31D : 6306801116597
Option 41D : 6306801116596
Status : Answered
Chosen Option : 4
Marks : 2
Q.2 Select the option in which the letter-clusters share the same relationship as that shared by
the given pair of letter-clusters.
HXN : NDT
DUK: JAQ
Ans X 1.LDT:RIZ
¥ 2. YHN :ENT
# 3.MQZ:SVF
< 4.VPJ : BWP
Question Type : MCQ
Question ID : 630680272713
Option 11D : 6306801059411
Option 21D : 6306801059413
Option 31D : 6306801059414
Option 41D : 6306801059412
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 ETefie 31grR Arferdhar def = nfor usma IwR . Hiooft haw srdfiege S Fet ekt

Ans

aifgs.

(E)HGFAZMKENLPIJBDOCTW Q (351d)

A=At ISTeT EtehTeh g UTad S1&R STIOY STeaT SXepTehg 1Y S1&R ieaT SwaT= Uit
guinTeraT FHARITER Jor Rt srar a9 smaa?

X 1.10
X 2.8
W 3.13
K49

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277016
6306801076557
6306801076560
6306801076558
6306801076559
Answered

3

2

Q.4 AdB 2 Tehl Tl 30 fRaid &= 2AehdTd, a% B 9 C § T hiHTeT 24 fRadid & rahard

Ans

< 1.30 fRaw
W 2. 18 2w
X 3.36 s
X 4. 24fag

31for C a A g «ar ShrTet 20 fRawid &< 2rehdrd. B 3for C e deamar & o g 10 RRaw
A AT, A FT A YOf FRUGTETST SO faheft feasr wmmefter?

Question Type

. MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

630680287464
6306801117765
6306801117763
6306801117766
6306801117764
Answered

2

2

Q.5 Read the given statements and conclusions carefully. You have to take the given statements

Ans

to be true even if they seem to be at variance from commonly known facts. You
have to decide which conclusion/s logically follow/s from the given statements.
Statements : All Wires are Boxes. Some Boxes are Scissors. No Scissor is a Plastic.
Conclusion 1: Some Plastic are Wires.

Conclusion 2: Some Scissors are Wires.

/5 1. Both Conclusions 1 and 2 follow.

45 2. Only Conclusion 2 follows.

## 3. Neither Conclusion 1 nor 2 follows.

/5 4. 0nly Conclusion 1 follows.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276992
6306801076464
6306801076462
6306801076463
6306801076461
Answered

3

2




Q.6 At mrforent adhgean yof glvarend usiRgrean (?) simft @refterd<dht wiomar vafa ser mfgsi?

Ans

5,9, 14, 20, 27, ?
X 1.20
X 2.42
W 3.35
X 4.38

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680256912
630680997559
630680997562
630680997560
630680997561
Answered

3

2

Q.7 Qehl SRIfAh gehIITd, -TThT T g5 fhweii=an 260% TaeT sret. fasht fohwe 27,200 sraeam™, 9@

fehwra foneft ama?
Ans X 1.%2,200
¥ 2.32,000
X 3.32,420
/X 4.%3,000
Question Type : MCQ
Question ID : 630680287176
Option 11D : 6306801116612
Option 21D : 6306801116611
Option 31D : 6306801116613
Option 41D : 6306801116614
Status : Answered
Chosen Option : 2
Marks : 2
Q.8 Wo&uan5-[4-{3-(3-3-6)}].
Ans X 1.0
K 2.6
w#3.10
X 4.4
Question Type : MCQ
Question ID : 630680277246
Option 11D : 6306801077436
Option 21D : 6306801077434
Option 31D : 6306801077433
Option 41D : 6306801077435
Status : Answered
Chosen Option : 4
Marks : 0




Q.9 wrefter ArferenT achgean gof srvararsd! usifAegrear (?) St Ao ug et wafaiga FRaer.
G440, 137J, L30F, P23C, ?
Ans X 1.V23C
W 2. UT6A
< 3.U21B
< 4.V18A

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680277021
6306801076580
6306801076579
6306801076577
6306801076578
Answered

2

2

Q.10 A bus covers a distance of 122 km 100 m in 6 hours. How much distance (in km) does it
cover in 1 hour?

Ans X 1.20km 450 m
X 2.20km 150 m
w3.20km 350 m
< 4.20 km 550 m

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277269
6306801077527
6306801077525
6306801077526
6306801077528
Answered

3

2

Q.11 R frem snfor s stergda arn. Ramiad fRaeh A & amm=aaot 3 quaidef
1A ST SiTewd, At oft T ong o Tl uRe, Rtear FRspufddh wioran/a frssd
fRdtean faem=ifht adna eng/enga @ v
faum:
fArsepef 1: 1Y RfeiT, =raTaT smad.
frsenef 2: e TpeTE, TuTET STRA.

Ans X 1. %ae sy 2 qhdid org.
72X 2.1 fohar 2 8 2t Fsep acheTa emmga.

X 3.1 fohar 2 O Tangt sl dehaara AT,

o 4. 3e7es Freepd 1 e IR,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276987
6306801076442
6306801076444
6306801076443
6306801076441
Answered

4

2




Q.12 aififer STHRRUAGER, Tehare AT 3 auf-ar s vaha ¥13,380 31for 6 auf-ax 20,070 gaht
gia. it Taerw ate.

Ans X 1.38505

W 2.38,920
/X 3.37,007
X 4.37,020
Question Type : MCQ
Question ID : 630680287202
Option 11D : 6306801116717
Option 21D : 6306801116715
Option 31D : 6306801116718
Option 41D : 6306801116716
Status : Answered
Chosen Option : 2
Marks : 2
Q.13 R arforen adgear yof gvaramdt usiRgren (?) srft @i FHoar vafa sirer wifgs?
2,3,6,11,18,?
Ans X 1.24
X 2.29
W 3.27
X 4.28
Question Type : MCQ
Question ID : 630680256908
Option 11D : 630680997543
Option 21D : 630680997546
Option 3 ID : 630680997544
Option 41D : 630680997545
Status : Answered
Chosen Option : 2
Marks : 0
Q.14 ISR Welie IR Sitsaidd fi4 Sitsan gant fafre a2+ @@ sngd snfoy angs @i ga
€ TR g, T TTeTd 7 9T 318RTTe Sl st
Ans X 1.1Q-GO
X 2.FN-DL
& 3. QY-EW
X 4.AI-YG
Question Type : MCQ
Question ID : 630680277534
Option 11D : 6306801078585
Option 21D : 6306801078586
Option 31D : 6306801078588
Option 41D : 6306801078587
Status : Answered
Chosen Option : 3
Marks : 2




Q.15 SR+ foy '~ gi=ht SrgeTaee dheft SfOY ‘%’ 31Oy '+ Ti=ht SreeiTaee hefll, aR @refter e

Ans

usifRgran (?) SInft @ ader?

16+12-25+512x8="?

X< 1.134
X 2.143

w3153
X 4.135

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680272722
6306801059449
6306801059448
6306801059450
6306801059447
Answered

3

2

Q.16 Uit GuiHTATRATER TUTRA aht dhigaR ‘EMUI’ 8 ‘'KSAO’ oft @efda omg. =maueR, ‘DLSH' @
‘JRYN' 2ft Seifdra omg. wma aepfa Srgarur dheard, ‘EKSW' & @refierdehl shemaft weifde amgd?

Ans

< 1.KYCQ
& 2. KQYC
X 3.KcvQ
< 4.KyQc

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

630680271600
6306801055474
6306801055475
6306801055473
6306801055472
Answered

2

2

Q.17 @it aRAR i vafaiea g fafdre ared ong onfor e @i g e aarR giat. Siomar

Ans

g &1 Terd a9d TE?

< 1.JPU
X 2.FLQ
< 3.DJO

& 4. BHL

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271615
6306801055534
6306801055532
6306801055533
6306801055535
Answered

4

2




Q.18 Uk AeTferTerdi+ feard Hurdie 9 e asiH (kg #eA) 50, 63, X, 62, 64, 48, 51, 55, 48 3

3MTE. TR TRIEK 9o 56 kg o118, &R x 3 o 3mg
Ans X 1.64
X 2.48
X 3.57
W 4. 63
Question Type : MCQ
Question ID : 630680277286
Option 11D : 6306801077593
Option 2D : 6306801077594
Option 3D : 6306801077596
Option 41D : 6306801077595
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 #Y 10 km/h 3= AT SMTOY 2 AT TideawT= gighaat. SR # |rzn a1 5 km/h 7 areaer, ®
o} a1z ideaear fardt dae uig=e?
Ans 1. 40 fAf2
< 2,20 fafe
/< 3.30 e
< 4,50 AfRe
Question Type : MCQ
Question ID : 630680287408
Option 11D : 6306801117541
Option 21D : 6306801117539
Option 3D : 6306801117540
Option 41D : 6306801117542
Status : Answered
Chosen Option: 1
Marks : 2
Q.20 10 =Afge Ger o 7 Rawia gof o 2repdre S1foY 10 geri=m & s guf roarandt 14 Raw
ATTETa. 5 Afger Snfor 10 goti=m @ s guf woarand) fhdt faw amrdier?
Ans 1.7
X 2.3
X 3.5
X 49
Question Type : MCQ
Question ID : 630680287457
Option 11D : 6306801117737
Option 21D : 6306801117735
Option 3D : 6306801117736
Option 41D : 6306801117738
Status : Answered
Chosen Option: 1
Marks : 2




Q.21 A car driver, driving in a fog, passes a pedestrian who was walking at the rate of 2 km/h in
the same direction. The pedestrian could see the car for 6 min and it was visible to him up

to a distance of 0.6 km. What was the speed of the car?

Ans X 1.20 km/h

X 2.15km/h
" 3.8km/h
/X 4.30km/h
Question Type : MCQ
Question ID : 630680287435
Option 11D : 6306801117649
Option 21D : 6306801117647
Option 3 1D : 6306801117650
Option 41D : 6306801117648
Status : Answered
Chosen Option: 3
Marks : 2
Q.22 SR T &1 Yeehn S2ffaat, M gt auf=h dear z2ffaat enfor P g1 sarerer a=ffaat, ) qAZR
TehdTe TS et e,
Ans X 1.M(1+T/100)° - T
X 2.M(1 +M/100)P
% 3.7(1 +P/100)M
W 4. T(1+P/100M - T
Question Type : MCQ
Question ID : 630680287184
Option 11D : 6306801116643
Option 2 ID : 6306801116644
Option 3D : 6306801116646
Option 4 1D : 6306801116645
Status : Answered
Chosen Option: 3
Marks : 0

Q.23 Rt mfcrenr adhgear guf glvarard) usifegren (?) srft @refiedd st vafa simer aifgs?

Ji6, ON12, TS20, ?
Ans X 1.XW32

W 2.YX30
& 3.YW32
X 4.XY30

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680256906
630680997537
630680997536
630680997535
630680997538
Answered

2

2




Q.24

1 1 1 1
(1-3(1 ==l -=).

100
Ans X 1.1
X 2.01
& 3.0.01
< 4.0.001
Question Type : MCQ
Question ID : 630680277253
Option 11D : 6306801077463
Option 21D : 6306801077464
Option 3 1D : 6306801077461
Option 41D : 6306801077462
Status : Answered
Chosen Option: 3
Marks : 2
Q.25 Ul guichATeR emeTiRd Retwar aifedha usiR=gren (?) swft & argen ga?
HLPTXB,?
Ans X 1.E
K 2L
W3 F
xXaJ
Question Type : MCQ
Question ID : 630680272736
Option 11D : 6306801059503
Option 2 ID : 6306801059505
Option 31D : 6306801059506
Option 4 1D : 6306801059504
Status : Answered
Chosen Option: 3
Marks : 2




